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l.International System

2.APEC

3.Preventive Diplomacy
4Confidence-building Measures

5.Asean Regional Forum
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L.Politburo (F43)
2.federalism (F153})
3.National Security Council of the United States (F143)
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1.(20%) | .
Suppose X has density function f(x)= (é) ,x=1,2,..., then what's

the cumulative distribution function of X?

2.(20%).
Find the maximum-likelihood estimator for @ in the pdf

H( @)= y> 8,

Assume a random sample of size n has been drawn.

3.(20%).
Let 1,%,..... X, be a random sample from an N(,o”) pdf. Show that
the variance of the sample variance is given by

4 (¥ -1y
20 where §? =2 ]
n-1 n-1

YVar(§*) =

4.(20%).

Let X, ~N(2,4), X, ~ N(4,10), and X, ~ N(8,16). The covariance
between X, and X,, cov(X,,X,)=2.Further, cov(X,, X,)=-3, and.
cov(X,,X,) =—5, Now, let F=X-2X,+3X,-4,and

Y,=2X + X, -3X, +E, Find the joint distribution of ¥, ¥.
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5 (20%)
Consider the multiple Tegression mode| ¥~ (B, + Box+ 4 2 o)
independent Suppose Wwe observe the followmg dat
5 5
x -4 -2 -2 0 1 2 4
z i 2 3 4 -3 .2 -5
Y -10 -4 1] 1 0 4 11
Find
(a). The Ordinary Jeags Squares estimatoy of the A and the unbiased
estimator of a’. : _
10 (B). Please tegt the nuj] hypothesis that g =/ 10
| v
: . Apperdix Tablas b))
TABLE 3, Pereentilgg of tha Student'g 4 Dfstdbution;
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There are five questions in this exam, each deserves 20 points; Please
state your answers as clearly as possible, either inChinese or in English.
Good success!

1. What is a monopoly? Explain how it may arise in a market economy, and discuss
the possibilities of which a monopoly may make use in order to improve its own

profit.

2. First distinguish ‘x-efficiency’ from ‘allocation-¢fficiency’, then give an example
in which the economy exhibits allocation-inefficiency but its firms are operated
rather x-efficiently. —

- R

What are the arpuments you know that determine the aggregate demand of a

modern economy?

4. Define inflation and try to find the cause of it according to the economic theories
that you think important.
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1. Trade among people eliminates the need and therefore total
production of the nation.
(). to be self-sufficient; increases
{(b). to be self-sufficient; decreases
(c). for money; increases
(d). for money; decreases

2. The most obvious reason for trade to take place between regions or countries is
differences in:
(a). political systems.
(b). language.
(c). educational levels.
(d). climate and natural resources.

3. Specialization by a country or a region in the production of certain goods can
increase total output because of:
(a). natural resources,
(b). acquired skills.
(c). supporting institutions,
(d). all of the above.

4. David Ricardo, one of the classical economists, was able to show that trade
between two countries benefits even if one was less efficient in the
production of everything. '

(a). neither country

(b). the most efficient country
(c).the least efficient country
(d). both countries.

5. A country has a comparative advantage in the production of a commedity if it
than another country.
(a). gives up more of another commodity
(b). gives up less of another commodity
{c). uses less resources to produce it
{d). uses more resources to produce it.
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6. Atariffis a on imports, It trade by the cost
of imported commodities,
(a). subsidy; increases; decreasing
{b). tax; decreases; increasing

(c). subsidy; decreases; increasing
(d). tax; increases; decreasing

7. Dumping exists when a government exports. In recent times, this
has most commonly occurred in the trade.
(a). taxes; petroteum
(b). subsidizes; petroleum
(c). taxes; agricultural
(d). subsidizes: agricultural

8. A favorable balance of trade is said to exist when exports are than
imports, This situation the amount of &oods available to consumers,
(a). greater; decreages
(b). less; decreases
(c). greater; increases

“(d). less; increases

9. A depreciation of a national currency makes domestic goods in the
international market and will lead to in exports and in
Imports.

(2). more expensive; a decrease; and increase
(b). cheaper; an increase; a decreage
(c). cheaper; an increase; an increase
(d). cheaper; a decrease; an increase

20

10. A country’s terms of trade are said to when the price of itg exports
- relative to the price of 1ts imports,
(a). deteriorate; increage

(b). improve; decrease
k (c). improve; increage

o5 (d). remain unchanged; increage
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Can the notion of comparative advantage apply to trade between individuals?

Suppose a lawyer is a better typist than his or ter secretary. Who should do the typing?
Why?

= - #%#E 205)

“The great thing about specialization and trade is that it expands our potential
standard of living. But the stiil greater problem is that free trade, while wonderful for
winnets, leaves the losers not only economically weak but subservient to the winners.
In reallty, we need to |m61ude some economic protection for the losers if we want to

reap the net gains prormsed by the interdational trade. " Do you agree or disagree? Give

a full irvaluaﬁon of thlS statement and explain your reasomng
| ! n
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